TIME & DISTANGE

LIVE 06:00 PM Wﬁ\
2024 & U T R




MISSION SSC -2024 I¥ =~

A person travelled a certain distance by train at a speed of 25 km/hr
and walked back at a speed of 4km/hr. The whole journey took 5 hour
48 minutes. What distance did he travel ?

Uk 1<k o 25 TohHT / 5T T T7q & < § Ueh [Afra g2 7 I 61 i 4

FoRdT /2T &t T & 9T9E =T AT R ITAT H 5 5 48 TR &7 997
AT 9 FohaetT g T hi?

(1) 29 km
(2) 25 km
(3) 20 km
(4) 14 km




MISSION SSC -2024 I¥ =~

A person has to reach a certain place at a certain time and he =
finds that he will be 15 minutes late if he walks at 4km/hr and 10
min earlier, if he walks at 6 kms /hr. Find the distance he has to
cover?

U 1<k 1 Ueh AT a97 92 Ueh [fsra &= 9 9g=«r grar g It

ag 4 ThHT / HeT & AT | S v 15 fiae ST g ug=h g, ST 938 6

e / =2l st Tid 8§ T 9 10 THee 3T | 9g=aT | ag fhadtr

JT FLAT 87 (1) 3 km
(2) 4 km
(4) 5 km
(4) 6 km




MISSION SSC -2024 I = -~
A boy walking at a speed of 10 km/hr reaches his school 15

minutes late. Next time he increases his speed by 2 km/hr, but

still he is late by 5 minutes. Find the distance of his school from
his house.

10ﬁﬂﬁl‘a‘d‘raw°rﬂﬁﬂ TAT ATAT Teh AT 15 THAE 3 | (I T
q@ddl = 31*|v|| T qaﬁﬁﬁﬂﬁZﬁﬂﬁ/uu TETAT &, ?lﬁw—rrfﬁv‘(%ﬁ

a8 5 e 3T ST ATAT g I T | I Thel hl LT T IqT o 0|

(1) 10 km
(2) 15 km
(3) 20 km
(4) 25 km




MISSION SSC -2024 I¥ =~

A man covers a certain distance between his house and office or&=>
scooter. Having an average speed of 30 km/hr, he is late by 10
min. However, with a speed of 40 km/hr , he reaches his office 5
min earlier. Find the distance between his house and office.

T STIHT T =L 3T HIATAT & A1 Teh A2 T TT HLAT g el 9
30 TR / =aT st o rfq = |1, a8 10 fAde <3 9 9g=ar g1 aTaAiieh,
40 TorHT / =T &t T & =97, 98 5 A 98 9 FTaT | Tgadl gl
3 L T FIITAT 6 S hl L HT IdqT N0

(1) 20 km
(2) 25 km
(3) 30 km
(4) 35 km




MISSION SSC -2024 I¥ =~

A man takes 6 hrs. 30 min. in walking to a certain place and riding =
back. He would have saved 2 hrs. 10 min. by riding both ways.
How long would he take to walk both ways?

Tah 3aHt 6 e 30 e «ar g T [ v o O 1 & aras
TATL | 3 H | 399 2 5 10 A 9917 20| Ii< 98 241 aF 9arl

g AT | 291 & 9 T4 § 39 FohdqT 99 S9E7?

(1) 4 hrs 30 min
(2) 6 hrs 40 min
(3) 8 hrs 40 min
(4) 1 hrs 30 min




MISSION SSC -2024 I = -~

With a uniform speed a car covers a certain distance in 8 hours. If speed
been increased by 4 km/hr. the same distance could have been covered in

7% hrs. what distance did he cover ?

Tk THTA A o 979 Teh 12 8 = § Ueh [fsra g a7 et g1 I Tia 4 frdT /

T AETE TE &1 AT G A 7 5 H T B S A o | gme Bt o
7

(1) 420 km
(2) 480 km
(3) 640 km
(4) Cannot be determined




MISSION SSC -2024 I¥ =~

A person covers a distance in 40 min. if he runs at a speed of
45 km/hr on an average. Find the speed at which he must run
to reduce the time of Journey to 30min.

0o T<h 40 (e | 0 9 L] %l ENREE 31IHC|~'I 45 ﬁv‘ﬁ/‘ﬂ‘d‘f

?ﬁﬂﬁﬂ ITSAT gl 39 I T AT L o0 ¢ 39 ITAT & 99T il A

FXA % (o1 30 T T FAqT AT U

(1) 50 km/
(2) 35 km/
(3) 60 km/
(4) 36 km/
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MISSION SSC -2024 I = -~

A bus travels for 7 hours, the first half at 30 km/hr and the
second half at 40km/hr. Find the distance.

0k &9 7 | it ITAT FLAl g, TI7 Agier 30 foredt / wer oiiw o=
AGTeT 40 fordft / =rar 921 g0 st e

) 240 km
) 230 km
) 250 km
) 260 km




MISSION SSC -2024 I = -~

Two persons cover the same distance at speed of 25 km/hr. and i
30km/hr. respectively. Find the distance. travelled if one person
takes 25 min. more than the other.

3T =<k 25 ToRHT / 5aT o 30 Tt / 5T 7 T & F691 1 T Fidd

2| ATAT 6T T FATT FISTU| 3 Tek 1<k 25 A SATIT 9(dT 8, THL A
|




MISSION SSC -2024 I = -~

Sound travels 330 meters per second. If the sound of a thunder

cloud follows the flash after 10 seconds, the thunder cloud is at a
distance of -

gt 330 HieT Ufd Hehe =l JTAT Ll gl 3 T TS AT dTae ohl

ATATS 10 Hhe o AT FALM T AT AT 5, AT TS JATAT qTaA

et T I -

(1) 3.7km
(2) 3.5km
(3) 3.3km
(4) 3.7km




MISSION SSC -2024 I¥ =~

A train met with an accident 60km away from station A. It completed the
remaining journey at 5/6th of the original speed and reached station B
1hr 12mins late. Had the accident taken place 60km further, it would
have been only 1hr late. what was the original speed of the train?
=2 A H 60 TohHT 3T T o THAT T (R BT T2 T8 AT ITAT T T oh
5/6 3 TATT 9T T HTT g 3T &2 B 1 =< 12 e 380 8 ag=dl gl 3FR

- greaT 60 Y e grar av firk 1 ser S gram 39 i ger aia = oA
A) 50km/hr B) 45km/hr C) 60km/hr D) 55km/hr




MISSION SSC -2024 I = -~

In a flight of 600 km, an aircraft was slowed down due to bad
weather. Its average speed for the trip was reduced by 200
km/hr and the time of flight increased by 30 minutes. The
duration of the flight is:

600 ThHT Rt ITTH H Tah AU @Xa HIFH % 107 AT g1 AT

- TAT o 1T ST Ha Wi 200 FRET/EEr F#9 T & T 3{¥ IS4 &
7RI | 30 A< &l gig it T2 ISTH =l Taie 8
A)2hrs B) 1hr 30min C) 2hrs 15min D) 1hr




MISSION SSC -2024 I =9 -

Two friends Ram and Ravi are travelling from point A to B, which are
600km apart. Travelling at a certain speed Ram takes 1hr more than Ravi
to reach point B. If Ram doubles his speed he will take 1hr 30mins less
than ravi to reach point B. At what speed
was Ram driving from point A to B?
aE @igA& B T ATAT FX T T, G|3r600ﬁm°r§:{§| T fAtSra T & I

| RS ] |e|g B % ug 1=|"| a1 ‘5|ET3T%|°h qHI RTAT g1 Iia TH a4t I
I TRET T <dT & qT 98 &g B T qg=+ § T 7 1 =ar1 30 7 &7 9877 <[ |
e i &
A) 150km/hr B) 120km/hr C) 80km/hr D) 45km/hr




MISSION SSC -2024 3IT¥-= -~ (1)

After travelling two hours a train met with an accident due to this ==
stops for an hour. After this the train moves at 66(2/3)% speed of
its original speed and reaches to destination 3hour late. If the
accident would occur at 200km ahead in the same line then the
train reaches only 2.5hours late. Then find the distance of journey
and the original speed of the train?

T He T ORL dF FLd o d18 Ush 2 &l UFH{e< gl AT 59 J9ig 9 98
U 5 & folT Fhdl g1 SHF dT12 o AT T T st 66(2/3)% T |
TAAT g ST 3 = T F Tq= 9 Tg=dl gl AT« AT JHT 129 H 200
TR ST It aT & 2.5 = &t < & g il qv JATAAT ht gL 3T 2 ht
AT Tee T ST FIToT0?

A) 2400km,600kmph B) 1800km,300kmph C) 2400km,400kmph
d)m none




MISSION SSC -2024 I = -~

A man covers a distance in four equal parts. He covers first part with
speed of 60 kmph, second part with 80 kmph and third part and fourth
part with 120 kmph and 80 kmph respectively. Find the average speed of
his journey.
T SATTHT AT T AN H G T FLAT gl T8 Tgol AR i 60 FRHT Ifa =i

T AT W, T AT & 80 TRHT it =i it T § S e 9 & 120 R
gfa = 3T 80 FordT I = it T & T HTar gl IHehl ATAT sl Ared Ta A0d

A) 60 kmph B) 80 kmph C) 120 kmph D) 100 kmph E) None of these




MISSION SSC -2024 I¥ =~

A man covered a certain distance at some speed. If he had

moved 3 km/
hr. faster, he would have taken40 minutes less. If he had moved

2 km/hr. slower, he would have taken 40 mins more. The
distance (in kms ) is

T ATEHT 7§ T Uah [Afera wia a2 a7 &1 7ie a8 3 {641, =1
St § =, 91 98 40 T8 9 9797 o9 Tie 98 2 /=T & =31

FH FT 5| AT 98 40 F=e srfess aa o & (e ie #) 8




MISSION SSC -2024 I = -~

A man covers a certain distance on scooter. Had he travelled 3
kmph faster, he would have taken 50 minutes less. If he had
moved 2 kmph slower, he would have taken 50 minutes more.
Find the distance (in km) and original speed.

T SATTHT That & '\Ohﬁ'fs?él_cl'g:ﬁ'dq LT %l T 98 3 fohdt gt =i
T ATt © ATAT /L a7 3§ 50 T8 :9 997 Q'I*I*II | W ag 2 TRt
gta =T € HT T |, =t ar 50 TR srfers o i | g2 AT Siery
ERIEIERE GRILT

(1) 20 km, 15km/h
(2) 30 km, 14 km/h
(3) 50 km, 12km/h
(4) Can't be determined




MISSION SSC -2024 I¥ =~

A thief runs at a speed of 10m/s. A Policeman runs behind him
at a speed of 12.5m/sec but after 10 seconds the Policeman
had started running. After how many meters , will the
Policeman catch the thief?

T =¥ 10 |1/ Hehe ] THATE F ISAT gl Ueh IIed arelT 396 e
2IEAr g 12.5 Wiex / §ehe &t i Ao 10 Hehe & aTa Tereshdl o

3TSAT F To0T oM T |ie & a1, TerdT T Sl The qTuI?

(1) 600 mtr.
(2) 500 mtr.
(3) 400 mtr.
(4) 300 mtr.




MISSION SSC -2024 I = -~

A thief steals a car at 2:30pm and drives it at 60km/hr. The
theft is discovered at 3pm. and the owner sets off in another car
at 75 km/hr to catch the thief. When will he overtake the thief ?
T A 2A8< 2:30 o7 Teh 1L AT g 3T T4 60 TR / =er %
TATAT g1 AL /T TAT AL 3 & 9T, AT HTTerh T R H 75

ToRHT / SaT sl ATl | FA1C FT 1T T gl 98 & 1L F 3 fqehet

STTU(T?

(1) 4:30 pm
(2) 4:45 pm
(3) 5 pm

(4) 5:15 pm




MISSION SSC -2024 I = -~

Walking at 6/7th of his usual speed , a man is 12 minutes late.
The usual

time taken by him to cover that distance is

AT GTHT T 6/7 / I U<, Uk ASHT 12 [0HE 3T | ag=d]
S| AT T | 39 20 &l qF FLA o forg I8 g1 foram 197 992

g

(1) 1 hr.

(2) 1 hrs. 12 min.
(3) 1 hr. 15min
(4) 1hr. 20min.




MISSION SSC -2024 JIT¥s J=_z

A car travelling at 5/7 of its actual speed covers 42 km in 1
hour 40 minutes. 48 second. Find the actual speed of the car?

5/7 & aTEdta Td & ITAT A JTeAl F1< 1 8¢ 40 A 48 A
42 THHT st G T FLAT & | T T dreaiaeh Ta AT shiiord?

1737 km/hr.

)

) 25 km/hr.
) 35 km/hr.
) 30 km/hr.




MISSION SSC -2024 I = -~

Excluding stoppage, the speed of a bus is 54kms/hr and including
stoppage, it is 45 kms /hr. For how many minutes does the bus stop
per hour.?

ST il BISHL, Ueh a9 ol Td 54 0. HY. / 52T 3T 5g0a &l o< Ig Td
45 .41, / 5T 8| Thad e Ifq =9 o a9 Thdl 5 17




MISSION SSC -2024 I¥ =~

Without any stoppage a person travels a certain distance at an
average speed of 42 km/hr. and with stoppage he covers the same
distance at an average speed of 28km/hr. How many minutes per
hour does he stop?

FordT oft Sg<Te o TaAT U =1i<h Ua [Afsra g a¥ A= FLar g 42 At/
=T hl S | 3T 35U o 1Y T8 Il HAL Heal g 28 FhHT /
HaT sl 3Ed TTd | T FaL wdT g | 98 Fhaq fa=e gia = <6t g

(1) 20 min.
(2) 30 min.
(3) 21 min.
(4) 23 min.




MISSION SSC -2024 IT¥- =9 -

A farmer travelled a distance of only 61 km. in 9 hours. He travelled partly on
foot at 4 km per hour and partly on bicycle at 9 kms /hr. The distance travelled
on foot is-

T Tohel T o et 61 TohdT st G201 T i1 9 e H| Iraid ATAF €T F ATAT hl T3 4
ToRHT I =IeT 37 STiTr &7 & 9 FheATH e / =aT g iohel 9| Tae ITAT hl T &-




MISSION SSC -2024 I¥ =~

A man covers a certain distance by car driving at 70 km/hr and
he returns to the starting point riding on a scooter at 55 km/hr. Find
his average speed for the whole journey.

T TEHT 70 TRHT / =T &Y THATE | T FATHL Ueh [ g0 aF Hdl
g 55 ToHT / el 9% ek The T IT HAT Fleh J[EATAT (6§ U Slear gl T
AT o TorT 3fea i ¢ |

(1) 61.6 km/hr
(2) (2) 62.8 km/hr
(3) 63.6 km/hr
(4) 64.6 km/hr




MISSION SSC -2024 I¥ =~

Two men A and B walk from P to Q, a distance of 21 km, at=
3 and 4 kms an

hour respectively. B reaches Q, returns immediately and
meets A at R. Find the distance from P to R.

A ETAATB, PHQTH, S 21 Rt fr T a2 g, 3 30 4
FRetTH e Iia = 7 =T | Iod 8 FHALM: B, Q I Ig=9dT &,
T dlear g M AT ATar RuT g P & R & &1 X 5T

FrRrm) (1) 12 km

(2) 14 km
(3) 16 km
(4) 18 km




km at 80 kms/hr. The average for the first 320 kms of the tour is
3T O S ATAT A T<h Tget 160 foherid{ie? it g1 64 fhHT / 5eT 3l
Tl 160 TohettHieT &t IT=T 80 feoher e / =er 9T Fxar g ar 320 foheT
% SEd AT F47 g

(1) 35.55 km/hr.
(2) 36 km/hr.
(3) 71.11 km/hr.
(4) 71 km/hr




MISSION SSC -2024 I¥ =~

Two guns were fired from the same place at an interval of 13
minutes but a person in a train approaching the place hears the
second firing 12 minutes 30 seconds after the first. Find the speed
of the train, supposing that sound travels at 330 meters per
second.

13 e & Sfq<Ter 92 QU 9 Uah gf g § 0T T2 ofehd TUeh o H Teh

=1k TS ST X TgAdT € 98 T BT 12 ¥ 30 TFg 1% A1
31 29 7 0 ST IS0, T ST B ety 330 HE) 4T a6

ATAT Tl 2 13
e 2) 45% ; km




